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A1 BEOSH 2 EREEOHALREALTVEY,
A2 BHEHEZEBLIEBERTREHYEREA,

BERA—E

PX  RAEE 1 77 77.00
AxX |(REEEE 2 90 45.00
AX AHEEE 1 2 2.00
PX  EEEE 2 61 30.50
RX  #UE= 1 0 0.00
FX | REEILEEEE 3 6 2.00
X REEESEEE 6 76 12.67
PX EERE=E 2 4 2.00
RX |FHEEHEE 2 56 28.00
AxX EEEE(1,2) 1 10 10.00
ZEMX BELAEE 1 5 5.00
ZEMAX | LREE 1 16 16.00
ZEMAX F-EREE 1 20 20.00
ZiEEX HEHEE 1 3 3.00
ZERAX HILEE 1 0 0.00
BHE BEAREE 2 6 3.00
RREFH] RRE{EE 4 38 9.50
RE]  RIE=E 1 1 1.00
RE] PR EEE (1) 4 21 5.25
RE]  |B=FRTEEE (3) 1 7 7.00
Sm | SHEE 4 1 0.25
Sm (EEEE 1 0 0.00
Sm  |BREE 2 19 9.50
|m |\ILEE 4 0 0.00
S (WREE(1) 1 0 0.00
|m  |[REEE 6 0 0.00
am  |HEEE 8 0 0.00
rEW  AFLEE 1 2 2.00
EM B AFILES 4 0 0.00
rERT HOBEEE 1 1 1.00
ER® | RHAEE (1) 1 1 1.00
R | RITESE 4 0 0.00
AP | dER(EE ) 0 0.00
RPH  RREE 1 1 1.00
HEMmH EOHEE 1 18 18.00
tHHMH HTEmEE 25 19 0.76
HETH | wEEEE 1 1 1.00
RILE™ WMAHEE 1 3 3.00
RLEE™T #HEFEE 3 0 0.00
RIEE™T FEEE 3 8 2.67
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RILE™T BASEEE 1 4 4.00
=ERW |REEE 1 0 0.00
R HRZEHEE 6 0 0.00
ERWm O |B2RAEE(11) 5 0 0.00
=R | EEEE 1 1 1.00
ZRM  REBME=E 8 0 0.00
=R |A—EF=E 5 0 0.00
BEM |(OFXNEFE(2~4,5) 3 1 0.33
EBEm |&HEEE 1 0 0.00
EBE™T &SEEF=E 2 1 0.50
BE™M |THEEF=E 1 0 0.00
BE™M |/HEBEEE 2 1 0.50
BT |BEHEE 2 30 15.00
BT MRE=E 5 6 1.20
BT |BRRE=E 3 1 0.33
BT | wNEE 2 0 0.00
BT |EANKEE 2 3 1.50
=ERm | REEE 2 1 0.50
=RMm AZREE 4 1 0.25
=M JURE=E 8 1 0.13
ER™ | AEEE 4 0 0.00
ER™M | ARE EBFEE 7 1 0.14
ERE™T | AREKREE 4 0 0.00
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